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+ Main papers: 1 SBA, 1TEMQ - both 3 hours
Proportions: 3/7 medicine; 2/7 CPT, 2/7 surgery
Pass/fail as single exam

« Practical prescribing

2 prescribing scenarios
2 existing prescriptions for comment
5 calculations

Mark allocation: 40:40:20
Time: 75 minutes




SOME SBAs:

A 22-year-old man is seen in A&E with a supraventricular tachycardia (at 170 beats/min) which is only transiently reversed by carotid sinus massage. Which of the following would be the drug of choice to induce sinus rhythm?
A.  adenosine

B.  atenolol

C.  digoxin

D.  flecainide

E.  verapamil

A 56-year-old man presents with a six month history of epigastric discomfort that is relieved by antacids.  Over the past two months he has lost some weight.  He smokes 20 cigarettes per day and drinks 32 units of alcohol per week.  The most appropriate management plan is to:
A.  give life-style advice, continue with antacid and review in six months 

B.  request a gastroscopy

C.  request an ultrasound scan of abdomen

D.  test for Helicobacter pylori and treat if positive 

E.  treat with a H2 receptor antagonist for six weeks and review

A boy in his late teens is being treated with sodium valproate for absence seizures. Which of the following is the most serious toxicity that may be associated with this drug?
A.  cardiac dysrhythmias

B.  hepatic damage

C.  nephropathy

D.  neutropaenia

E.  thrombocytopaenia

A patient presents with acute cellulitis of the left leg.  You should elect to treat him with an antibiotic which will cover:
A.  Bacteroides 
B.  Clostridium tetani

C.  haemolytic streptococcus

D.  Proteus mirabilis 

E.  Staphylococcus epidermidis 

A 65-year-old woman on long-term therapy with warfarin is found to have an INR of 6 after starting an antibiotic for a urinary tract infection. Which of the following is most likely to be responsible?
A.  amoxicillin

B.  cefalexin

C.  ciprofloxacin

D.  nitrofurantoin

E.  trimethoprim

Which of the following anticonvulsant drugs is currently considered to carry the least teratogenic risk?
A.  carbamazepine

B.  lamotrigine

C.  phenytoin

D.  sodium valproate

E.  vigabatrin

A patient is being treated for hypertension with verapamil.  Which of the following is the most likely adverse affect at therapeutic dose?
A.  constipation

B.  erectile dysfunction

C.  hyperglycaemia

D.  myalgia

E.  nightmares

A man in his 20s is being treated for chronic schizophrenia. Which of the following major tranquillisers is most likely to cause extrapyramidal adverse reactions?
A.  clozapine

B.  flupentixol

C.  olanzapine

D.  risperidone

E.  sulpiride

Which is the most accurate of the following statements regarding the use of leukotriene antagonists in asthma?
A.  they are effective in about two-thirds of asthmatic patients

B.  they are usually given as part of step 3 as recommended by current guidelines

C.  they are usually given 3-4 times a day 

D.  they have no serious adverse effects

E.  they are often useful in exercise-induced asthma 

A 50-year-old woman presents with a six-hour history of palpitations.  The ECG shows atrial fibrillation at a ventricular rate of 120/minute.  She has no haemodynamic compromise.  Which of the following is the most appropriate initial management?
A.  anticoagulation

B.  carotid sinus massage

C.  intravenous adenosine

D.  intravenous lignocaine

E.  perform DC cardioversion

A 95-year-old man presents to his GP with lethargy.  A diagnosis of bronchial carcinoma is confirmed.  He is in pain and you both agree to commence morphine for symptom relief.  Because of side effects of morphine you also prescribe another medication.  Which of the following would be most appropriate?
A.  aspirin

B.  co-danthramer

C.  dexamphetamine

D.  hyoscine

E.  loperamide

A patient receiving cancer chemotherapy develops severe hair loss and haemorrhagic cystitis.Which of the following drugs is most likely to be responsible?
A.  chlorambucil

B.  cisplatin

C.  cyclophosphamide

D.  doxorubicin

E.  paclitaxel

A 63-year-old man with hypertension and mild heart failure develops increased 

breathlessness after addition of a new drug to his treatment. Which of the following is it likely to be?

A.  amlodipine

B.  doxazosin

C.  irbesartan

D.  nifedipine

E.  verapamil

Which of the following is most likely to be an adverse effect of ciclosporin therapy?

A.  alopecia

B.  dyskinesia

C.  hypercalcaemia

D.  hypertension

E.  hypokalaemia

A 75-year-old woman recovers from Clostridium difficile infection after appropriate antibiotic therapy  but has a recurrence 3 weeks later. Which of the following would be the most appropriate therapy?
A.  metronidazole for 1 week

B.  metronidazole for 2 weeks

C.  vancomycin for 1 week

D.  vancomycin for 2 weeks

E.  both drugs together for 1 week

 An 80-year-old man is seen by his GP at his care home, has become drowsy and confused in the last three days.  Physical examination is unremarkable.  His pulse is 88/min and blood pressure 115/75 mmHg.  He has no dependent oedema.  Results of biochemical analysis: serum sodium 128 mmol/L (normal 137-144), potassium 2.8 mmol/L (normal 3.5-4.9), urea 26.2 mmol/L (normal 2.5-7.5), creatinine 125 µmol/L (normal 60-110), Hb 14.1 g/dL (normal 13-18).  The most likely cause of these findings is:
A.  chronic renal failure

B.  chronically low dietary sodium intake

C.  diabetes insipidus

D.  excessive treatment with loop diuretics

E.  inappropriate use of ACE inhibitors

A middle aged man presents in the Accident and Emergency department with confusion, ataxia and a macrocytosis.  What is most important to add to his IV infusion?
A.  dexamethasone

B.  flucloxacillin

C.  glucose

D.  potassium

E.  thiamine

Which of the following is the most accurate statement in relation to the management of chronic obstructive pulmonary disease (COPD)?
A.  inhaled corticosteroids have no significant place in therapy

B.  inhaled sodium cromoglycate is useful 3rd line therapy 

C.  long-acting beta-agonists are rarely used

D.  long-term oxygen therapy is indicated in the presence of pulmonary hypertension

E.  there is no clinical advantage in using once-daily anticholinergic inhalers

A 25-year-old woman develops deep vein thrombosis during pregnancy and is treated with low-molecular weight heparin. After 3 weeks an abnormality is noted on a routine blood count. What is this most likely to be?
A.  lymphocytosis

B.  macrocytic anaemia

C.  neutropaenia

D.  polycythaemia

E.  thrombocytopaenia

Which of the following drugs is likely to have the most selective effect on post-prandial, as opposed to fasting, hyperglycaemia?
A.  acarbose

B.  glibenclamide

C.  glicazide

D.  metformin

E.  pioglitazone

A 52-year-old man with type 2 diabetes is found to have very high fasting serum triglyceride levels (>10 times the upper limit of normal). Which of the following is the most appropriate choice for initial therapy?
A.  atorvastatin

B.  cholestyramine

C.  ezetimibe

D.  fenofibrate

E.  niacin

In diabetic ketoacidosis which of the following statements is most accurate?
A.  blood glucose levels should be reduced to 6 mmol/l within 24 hours

B.  intravenous sodium bicarbonate is usually needed

C.  prophylactic antibiotics should be given routinely

D.  total body potassium is depleted

E.  total fluid deficit is usually less than 3 liters

Diarrhoea is most likely as an adverse effect of which of the following at therapeutic

doses?

A.  diclofenac

B.  doxazosin

C.  misoprostol

D.  omeprazole

E.  verapamil

Which of the following drugs is most likely to produce potentially dangerous hypotension in combination with sildenafil?
A.  amlodipine

B.  doxazosin

C.  isosorbide mononitrate

D.  losartan

E.  verapamil

Selective serotonin reuptake blockers, such as fluoxetine, are most likely to have a dangerous interaction with which of the following?
A.  diazepam

B.  digoxin

C.  diphenhydramine

D.  phenelzine

E.  phenytoin

Which of the following antifungal drugs is most likely to act as an inhibitor of 

cytochrome P450?

A.  amphotericin B

B.  fluconazole

C.  griseofulvin

D.  ketoconazole

E.  terbinafine

Which of the following is most accurately described as a phase II metabolic reaction for a drug?
A.  deamination

B.  glucuronidation

C.  hydrolysis

D.  reduction

E.  sulfoxide synthesis

Which of the following statements is most accurate with respect to a 1 month old baby?
A.  absorption of drugs is significantly reduced compared to adults

B.  hepatic drug metabolism is similar to that of adults

C.  plasma protein binding of drugs is likely to be increased compared to adults

D.  the glomerular filtration rate is close to adult levels

E.  the half-life of diazepam is much shorter than in adults 

Which of the following is the most accurate statement concerning drug therapy in a

75-year-old man?

A.  glomerular filtration rate will usually be below its peak level in his 20s

B.  renal tubular function is likely to be normal

C.  the absorption of most drugs will be impaired

D.  the clearance of warfarin is almost always reduced

E.  the percentage of body water is likely to be increased

SOME EMQs:

Options
A.
choose alternative drug(s)

B.
measure trough drug levels

C.
monitor colour vision and visual fields

D.
monitor full blood count

E.
monitor hepatic function

F.
monitor INR (international normalised ratio)

G.
monitor renal function

H.
no precaution necessary

I.
reduce loading dose

J.
reduce maintenance dose

In each of the scenarios described below each patient is starting a new treatment.  For each scenario select the single most important measure that should be taken when prescribing to minimise the risk of a serious adverse drug reaction.  

1.
A 72-year-old man with moderate renal impairment about to start digoxin.

2.
A 22-year-old woman due to start warfarin for a deep vein thrombosis who is found to be eight weeks pregnant.

3.
A 58-year-old man with hypertension and peripheral vascular disease who is commencing ramipril.

4.
A 64-year-old man with moderate and stable hepatic impairment commencing   gliclazide.

5.
A 44-year-old man with renal impairment and tuberculosis commencing rifampicin, isoniazid and pyrazinamide.

Options
A.
acyclovir

B.
bendroflumethiazide

C.
cholestyramine

D.
doxazosin

E.
erythromycin

F.
paracetamol

G.
prednisolone

H.
spironolactone

I.
St John’s wort

J.
verapamil

Which of the below drugs, when added to those described below, is most likely to have caused the adverse interaction noted

1.
Overanticoagulation (INR 6.5) in a 65-year-old man taking warfarin, digoxin and bisoprolol for persistent atrial fibrillation.

2.
Nausea, tremor and ataxia in a 55-year-old woman being treated with lithium for bipolar affective disorder.

3.
Complete (3rd degree) heart block in a 75-year-old man with hypertension taking atenolol and amlodipine.

4.
Unplanned pregnancy in a 25-year-old woman taking a low-dose combined oral contraceptive pill.

5.
Hyperglycaemia (glucose 18 mmol/L) in a 60-year-old man with Type II diabetes, previously well controlled on diet.

Options
A.
adenosine

B.
amiodarone

C.
aspirin

D.
atropine

E.
digoxin  
F.
flecainide

G.
lignocaine

H.
nifedipine
I.
sotalol

J.
verapamil
For each of the following side effects select the drug most likely to be responsible from the list below:

1.
Yellow/green visual disturbance and gynaecomastia

2.
Bradycardia when given to a patient taking bisoprolol

3.
Hypothyroidism and peripheral neuropathy

4.
Bronchospasm and prolongation of the corrected QT interval

5.
Chest tightness and flushing immediately following administration of an intravenous bolus

Options
A.
cefalexin

B.
cefotaxime
C.
ciprofloxacin
D.
clindamycin

E.
doxycycline

F.
flucloxacillin
G.
isoniazid

H.
metronidazole
I.
trimethoprim
J.
zidovudine

For each scenario, select the drug from the above list that is the best treatment, possibly in combination with other agents.  

1.
A 15-year-old boy is admitted with headache, photophobia and a petechial rash.

2..
A 30-year-old woman in the first trimester of pregnancy complains of frequency and dysuria. There are leucocytes as well as blood and protein in her urine

3.
A 30-year-old drug addict presents with a swollen, painful leg.  He has been injecting into his femoral vein.  His leg is erythematous, and he has a temperature of 39oC.  He has no venous access and insists on being treated as an outpatient.  He is allergic to penicillins.

4..
A 17-year-old student has returned from travelling in Central America with diarrhoea and an intermittent fever.  Stool and blood cultures have been taken.
5.
A 60-year-old man presents with productive cough, night sweats and haemoptysis.  On X-ray there is a lesion at the apex of the right lung.

Options
A.
chlorpheniramine
B.
cinnarizine
C.
clozapine

D.
codeine
E.
diazepam
F.
haloperidol
G.
levodopa

H.
lithium
I.
lofepramine
J.
sodium valproate

For each sceniario below, select the drug from the below list that is the best treatment.  

1.
A 37-year-old man having radiotherapy for an astrocytoma develops partial epilepsy secondary to the tumour.

2.
A 25-year-old man with a history of schizophrenia presents in an agitated state.  He threatens to jump out of the window on the seventh floor of the hospital.  His family tells you that he stopped taking his medication 4 weeks ago.

3..
A 35-year-old woman who suffers from travel sickness and is about to undertake a long journey as a passenger by car.

4.
A 75-year-old woman has become increasingly depressed and apathetic.  She has good support from family and friends.
5..
A 50-year-old man has not slept for several days and has written dozens of 

letters to world leaders.  He was thought to have been depressed three 

months earlier.

Options

A.
co-amoxiclav

B.
doxycycline

C.
erythromycin

D.
inhaled salbutamol

E.
ipratropium

F.
long-term oxygen therapy

G.
oral prednisolone

H.
oral theophylline

I.
salmeterol

J.
tiotropium

For each of the following scenarios, select the most appropriate therapy from the options below.  

1.
A 67-year-old man with COPD becomes more breathless on exertion having previously not required specific treatment. He develops tachycardia and a tremor on salbutamol.

2.
A 70-year-old man with severe COPD and dyspnoea is on maximal doses of inhaled drugs and does not respond to oral theophylline.

3.
A 68-year-old woman with COPD is severely short of breath on exertion on maximal inhaler therapy but does not want to use systemic corticosteroids.

4.
A 60-year-old man has an acute exacerbation of COPD and is coughing up yellowish-green sputum.  He is allergic to penicillin.

5.
A 55-year-old man is on maximal antimuscarinic and salbutamol inhaler therapy but still does not have adequate symptom control. He would prefer to avoid tablets.

Options
A.
acarbose

B.
daily subcutaneous insulin injections

C.
continuous subcutaneous insulin infusion by pump

D.
dextrose 50% solution, 25 ml by mouth

E.
dietary modification and weight loss for 3 months

F.
gliclazide orally

G.
glucagon intramuscularly

H.
insulin intravenously and 0.9% NaCl solution intravenously

I.
Lucozade

J.
metformin orally

For each of the following clinical scenarios, select the most appropriate treatment from the list below.  .

1.
A 52-year-old woman newly diagnosed as having diabetes.  A screening random blood sugar was 14mmol/L, her BMI is 32, urine dipstick glucose +++ nothing else.

2.
A 28-year-old man with Type 1 Diabetes.  He complains of nausea and vomiting.  On examination he is dehydrated and hyperventilating.  BMI is 25.  His blood sugar is 24mmol/L and a urine dipstick shows glucose +++ and ketones +++.

3.
A 45-year-old Afro-Caribbean man with Type II diabetes diagnosed six months ago.  His blood sugars are between 10 - 18 mmol/L, glycosylated haemoglobin (HBA1c) 9.4%.  His creatinine is 120 μmol/L,  BMI 28.  He is on a regular programme of exercise and a dietetic review reveals a healthy diet.

4.
A 35-year-old man who is known to have diabetes.  He has been found unconscious by his GP.  His blood sugar is 1.4 mmol/L.  A search for veins reveals none that are easily accessible.

5.
A 60-year-old woman usually has  HbAIc above 12% and she is noted to have mild diabetic retinopathy.  Her creatinine was 168 μmol/L last year and her most recent this year was 240 μmol/L.  She is on maximum doses of metformin and gliclazide.

SOME PRESCRIPTIONS TO WRITE
A 68-year-old man with type 2 diabetes and hypertension is brought to the A&E department with atrial fibrillation which started less than 2 hours earlier. His ventricular rate is about 130/minute. DC cardioversion is unsuccessful and he remains in hospital. He says he would prefer not to have a further attempt at the procedure. Blood pressure is consistently higher than 150/90 mm Hg during the daytime. Electrolytes and creatinine are within the normal range, and thyroid function is normal.  Fasting blood glucose is 7.9 mmol/L, fasting total cholesterol is 6.6 mmol/L, HDL cholesterol 0.96 mmol/L and triglycerides 3.4 mmol/l.

A 71-year-old woman is admitted with a fractured neck of femur following a fall. She has successful surgery but despite appropriate prophylaxis develops a deep vein thrombosis in one calf. While she is being treated for this she undergoes bone densitometry which reveals vertebral and femoral osteoporosis. She also has a lower urinary tract infection.
SOME PRESCRIPTIONS FOR COMMENT:
A 69-year-old man has COPD with heart failure. He also has benign prostatic hypertrophy with obstructive symptoms. He is admitted with an infective exacerbation of the COPD.

Prescription: 


Bendroflumethiazide 5 mg x 1 daily

Bisoprolol 5 mg x1 daily

Ciprofloxacin 500 mg x2 daily


Doxazosin 8 mg x 1 daily

Enalapril 5 mg x1 daily

Ipratropium bromide 40 microgrammes x 4 daily by metered dose inhaler

A   68-year-old woman has Parkinson’s disease for at least 5 years. She suffers a transient ischaemic attack affecting her speech and the right side of her face for about 6 hours. Her blood pressure is 158/62 mm Hg seated and 132/54 mm Hg standing and she is in sinus rhythm. Her total cholesterol is 7.8 mmol/L with HDL of 1.2 mmol/L. She is not diabetic and her renal and liver functions are normal. Duplex scanning of the carotids reveals 60% stenosis of the left internal carotid and 15% stenosis of the right.

Prescription:














Aspirin 75 mg x1 daily


Atenolol 50 mg x1 daily


Clopidogrel 75 mg x 1 daily


Co-careldopa 250/25 1 tablet x  2 daily


Pravastatin 20 mg x 1 daily
AND SOME SUMS
Dopamine is to be administered at a dose of 7.5 mcg/kg/min to a patient weighing 80 kg.  The stock solution contains 400 mg dopamine in 250 ml.  At what rate should the infusion pump be set in ml/hour?
a. 15

b. 17.5

c. 20

d. 22.5

e. 25
Amphotericin is to be given at an initial dose of 250 micrograms/kg daily to a woman who weighs 50 kg. The infusion is given over 4 hours having been diluted to a final concentration of 0.05 mg/ml.  What is the infusion rate in ml/min?
a. 0.96

b. 1.00

c. 1.04

d. 1.08

e. 1.12
Dobutamine is made up to a concentration of 5 mg/ml in 5% dextrose.  The syringe  pump is set at a rate of 6 ml/hour. What dose of dobutamine is the patient getting, in micrograms/min?
a. 250

b. 500

c. 750

d. 1000

e. 1500
A cancer chemotherapy agent is given at  a dose of 4 mg/kg/day and needs to be given 12-hourly. It is available in capsules containing 30 mg of the drug.  A patient weighs 60 kg. How many capsules will she require each time the drug is administered?

a. 2

b. 3

c. 4

d. 5

e. 6
A 77-year-old man with severe COPD is prescribed an aminophylline infusion at 

a dose of 300 micrograms/kg/hour. He weighs 75 kg and the infusion bag contains 500 mg of the drug in 500 ml of 5% dextrose. At what rate should you set the infusion pump, in ml/min?

a. 0.35

b. 0.375

c. 0.4

d. 0.425

e. 0.45
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